
M.A. Part II Examination, 2020 (DDE) 

Subject: History 

Paper:  VIIA 

Society and economy of ancient India from earliest times to 650 AD 

Time: 2 Hours                                           Full Marks: 40 
 

The figures in the margin indicate full marks.                                  

Candidates are required to give their answers in their own words as far as practicable. 
 

1st half (প্রথম অর্ধ) 
1. Answer any one of the followings.                                15x1 = 15     
নিম্ননিনিত প্রশ্নগুনির মধ্যে যে যকোি একটির উত্তর দোও।                                              

(a) How do you explain the pre and early Harappan culture spread over a vast area from 

Baluchistan to Harappa? 

বালুচিস্তান থেকে হরপ্পা পর্যন্ত  বিসতৃ্ত অঞ্চলে বিন্যস্ত প্রাক ও আচি হরপ্পা সভ্যতার চবস্তার তুচি 
কীভ্াকব িযাখ্যা েরকব?  

(b) Give a picture of society and religion  in India during Kushana period . 

 কুষাণ র্ুকে ভারলতর সিাজ ও ধকিযর  এেটি চিত্রাঙ্কন ের। 
 

2.  Answer any one of the followings.                                  5x1 = 5 

নিম্ননিনিত প্রশ্নগুনির মধ্যে যে যকোি একটির উত্তর দোও।     

(a)  Can you find any crafts and arts in  Harappa civilization? 

তুচি চে হরপ্পা সভ্যতার থোকনা োরুচিল্প ও হস্তচিকল্পর সন্ধান পাও? 

(b) Give an idea of female education in ancient India. 

প্রািীন ভ্ারকত স্ত্রী চিক্ষার চবষক়ে এেটি ধারণা িাও। 
 

2nd half (দ্বিতীয় অর্ধ) 
 

1.     Answer any one of the following questions.                          15x1 = 15 

নিম্ননিনিত প্রশ্নগুনির মধ্যে যে যকোি একটির উত্তর দোও।  

(a) Discuss the agrarian economy during the Maurya period. 

থিৌর্য র্ুকে েৃচষ অেযনীচত সম্পকেয  আকলািনা ের। 
(b) Analyse the major routes of communication in ancient India. 

প্রািীন ভ্ারকত প্রধান থর্াোকর্াে বযবস্থা চবকেষন ের। 
 

2.  Answer any one of the followings.                             5x1 = 5 

নিম্ননিনিত প্রশ্নগুনির মধ্যে যে যকোি একটির উত্তর দোও।   

(a) Write a note on administration during the Vedic age. 

ববচিে রু্কে িাসন বযবস্থার উপর এেটি টীকা লেখ্। 
(b) Discuss the role of women in administration in ancient India. 

প্রািীন ভ্ারকত প্রিাসন থক্ষকত্র নারীকির ভূ্চিো আকলািনা ের। 
--------- 

  



 

M.A. Part -2 Examination, 2020 (DDE) 

Subject: History 

Paper:  VIIC 

Society and Economy in Modern India with special reference to Bengal 1793-1857 

Time-2 Hours               Full Marks: 40 
The figures in the margin indicate full marks. 

Candidates are required to give their answers in their own words as far as practicable.  
                                                

1st Half (প্রথম অর্ধ) 
1.  Answer any one of the following questions.                15x1 = 15 
নিম্ননিনিত যে যকোি একটি প্রধ্শ্নর উত্তর দোও । 
(a) Analyze the role of the ideas of Rammohan Roy and Iswar Chandra Vidyasagar on 
the introduction of English education in India. 
ভোরতবধ্ষে ইংরোজী নিক্ষোর প্রচিধ্ির যক্ষধ্ে রোম যমোহি রোয় ও ঈশ্বর চন্দ্র নবদেোসোগধ্রর নচন্তোভোবিোর ভূনমকো 
নবধ্েষণ কর।    
(b) What were the major obstacles in the path of introducing women’s education? How 
could these obstacles be removed?  
িোরী নিক্ষো প্রচিধ্ির যক্ষধ্ে কী কী প্রনতবন্ধকতো নিি?নকভোধ্ব যসগুনির অপসোরণ ঘধ্েনিি ?   
  
2. Answer any one of the following questions.                   5x1 = 5  
নিম্ননিনিত যে যকোি একটি প্রধ্শ্নর উত্তর দোও । 
(a)comment on the role of Christian Missionaries in the spread of western education in 
the first half of the 19th century. 
ঊিনবংি িতধ্কর প্রথমোধ্যে  পোশ্চোতে নিক্ষোর প্রসোধ্র খ্রীষ্টোি নমিিোরীধ্দর ভূনমকো নবষধ্য় মন্তবে কর। 
(b) Review the religious reform movement during the colonial period. 
ঔপনিধ্বনিক আমধ্ি যমেসংস্কোর আধ্দোিি  পেেোধ্িোচিো কর। 
 

2nd Half (দ্বিতীয় অর্ধ) 
1. Answer any one of the following questions.                     15x1 = 15 
নিম্ননিনিত যে যকোি একটি প্রধ্শ্নর উত্তর দোও । 
(a)Explain the impact of the Permanent Settlement on the agrarian economy of Bengal. 
বোংিোর কৃনষ অথেিীনতর ওপর নচরস্থোয়ী বধ্দোবধ্ের প্রভোব আধ্িোচিো  কর।  
(b) Account for the growth of decline of the indigenous enterprises in Bengal. 
বোংিোর যদিীয় নিধ্ের নবকোি ও ধ্বংধ্সর কোরি কী নিি ? 
 
2. Answer any one of the following questions.                     5x1 = 5  
নিম্ননিনিত যে যকোি একটি প্রধ্শ্নর উত্তর দোও । 
(a) What considerations influenced the decision of introducing Ryotwari system in South 
India? 
দনক্ষণ ভোরধ্ত রোয়তওয়োা্নর বধ্দোবে চোিু করোর নপিধ্ি নক নচন্তোভোবিো কোজ কধ্রনিি ? 
(b) Discuss the internal trade of the East India Company during the period of your study. 
যতোমোর আধ্িোচে সময় কোধ্ি ইষ্ট ইনিয়ো যকোম্পোিীর আভেন্তরীণ বোনণজে আধ্িোচিো কর। 
                        ------ 


